TS717| SR7IEE

COMPACT CYLINDER SERIES
SHE 4TI xz=

INDEX

fo
I
1o
lo
E
[
DO WWNN

=




o A¥ - ZYOR ILHUSHO| HojLICL

o
Ab Az2ifZa AE23
. ]
e a4l PCJI A2HE HE AEZ3 (mm)
pSI=LIN| 2E5 $20, 25 | 5,10, 15, 20, 25, 30, 40, 50, 60, 80, 100, 200
Al mm 20, 25 32, 40, 50, 63, 80 $32,40 |5, 10, 15, 20, 25, 30, 40, 50, 60, 80, 100, 200, 300
LIRS Bz M5X0.8 G1/8 $50, 63 |10, 15, 20, 25, 30, 40, 50, 60, 80, 100, 200, 300, 400
A2 A=37| 680 15, 20, 25, 30, 40, 50, 60, 80, 100, 200, 300, 400, 500
e |2 1 enzE A=23 0[9l2] MZ0 thaiMs 2olste] FUAL.
MPa | ZX 0.05
=5 W WPe Z2A(0l) : OL2E HMM2|
A2 2= ~5°C~+60°C (R:&)
e =
= =22 FAC — PCJI — 20
MFE TR T T
AlzigA
RPN RCI sl HEsE
=2
IS EHY 50~500 mm/sec reEl Efel
AERF FE 20| +0~+1.0 mm
# RCI AN AQIX|0| AIAIZOl thafAls S&7IE2 28 P701E LB
ZT510] FHAIR

L Adaog
1 : Single Rod
& / HolE A
Js| =AIE JUY:

-
-

L

IpiEER

FBC ]
MP | -+
CA
cB

M ARIX| RCI

Al7A| E2tolH

S LpA




LHRER=E

O\

;

Colles

~ A A-A

No. o Y 2| TaaE ]
1 2C 7 AZ0lEEF 1 [ ]
2 A= 7t U205 1 [
3 == AR 01Ee= 1
4 OJAE-R dR0lEdZ 1 [ ]
5 OAE-H A2 0= 1 [ ]
6 DAE 2C IHe Al 1
7 2e mz NBR 1 )
8 Al gas 1 °
9 ofasliE ofasl 1 [ J
10 DAE 1 NBR 1 )
11 O-RING NBR 1 )
12 ge IH A 1 )
13 2E M NBR 2 )
14 O-RING NBR 2 )
15 EE AHQl2|AY 8 [ ]
16 oz Hz2 1 )




SEICE 7y 2= g
¢ 20 CP-PCJI-20 PS-P CJI-20
¢ 25 CP-PCJI-25 PS-PCJI-25
¢ 32 CP-PCJI-32 PS-PCJI-32
¢ 40 CP-PCJI-40 PS-PCJI-40
¢ 50 CP-PCJI-50 PS-PCJI-50
¢ 63 CP-PCJI-63 PS-PCJI-63
¢ 80 CP-PCJI-80 PS-PCJI-80
gzl 5
Belig
Etol Basic weight Stroke 10 mm Basic weight Stroke 10 mm
re PCJI-11 PCJI-11 PCJI-12 PCJI-12
wea| S
¢ 20 121 108
¢ 25 147 135
¢ 32 238 214
640 322 291
¢ 50 493 455
¢ 63 703 667
¢80 1,260 1,190




|
o

K

LB

Ic| M2

—_

No.

Al
MM 2]

FAC
FBC
MP
cA
CB + PIN
MFC
MFCS
PHS
PC
Jsc
RCI

10




ZB+AERS

WH ZA+AEZRT

KF X AF

WH

ZA+AEZT

~—T»<i
7 1
DSI — 1o sj
1 i
2EE/I— 1 | S
I\ 2x4-RT
PCJI-11 T
A |A1| B | B1 KK
HES A FEER)
_'OO/_'_L'l-Ar 20 [ 16| 14| 13] 4 | Mex1.25
25 |16 [ 14 [ 13] 4 [ m8x1.25
32 [ 19|17 | 17| 5 [ m10x1.25
40 |19 [ 17 [ 17| 5 [ miox1.25
50 | 22 20[19] 6 [m12x1.25
63 | 22|20 19] 6 [m12x125
80 | 28|26 | 24| 8 | Mi6x15
\ere|AF[ ¢ |D| E | EE |G |wH| 1|4 KF |PL{TG| RT |zA|zB
20 [14] 11 [10] 355 |msx08] 8 | 6 | 9 [21] Mex10 | 7 | 22 | msx08 | 37 | 43
25 [14] 11 [ 10] 395 [msx08] 8 [ 6 | o [21] mex10 [ 7] 26| msx08 [ 39 [ 45
32 [15] 14 [12] a7 [ cus [10] 7 [ 9 |21] mex125 [75[325] mex10 | 44 | 51
40 [15] 14 [12] 545 cus [10] 7 | o [21] mex125 [75] 38 | mex10 | 45 | 52
50 |18 | 14 | 16 | 655| G1/8 |14 | 8 | 12| 26| M10x15 | 7.5[465| Mex1.25 | 45 | 53
63 |18 [145[16[755] c1s [14| 8 [12]26] miox15 [75[565] mex1.25 | 49 | 57
80 |20 [155[ 20| 955[ g8 [17[10]12]26[mi2x1.75| 8 [ 72 [ m10x15 | 54 | 64
B
Mobe| B | E | WH| za |3h AE25
20 | 13 [355 6 | a7 600 mm
25 | 13 [395] 6 [ 39 600 mm
N 32 | 15 | 47 | 7 | 44 800 mm
L 40 | 15 [545[ 7 [ 45 800 mm
= 50 | 15 [655[ 8 [ 45 800 mm
63 | 15 | 755 8 | 49 800 mm
80 | 17 | 955 10 | 54 1000 mm
‘ @
No. £ 9 gk
1| AHYM ER 1
2 | x| 2
3 (= 2 ‘,
ZATAEZS WH 4 [EE 2 @




XEE (mm)

SA+AEEF
WH
L) L)
T3 T3
< [ 7@77777% 7777777777 1
w
T
<
—
—
Ao AU | | AU |Ao|_
AE'E:‘EE AB | AH | AO | AU E EA L SA T | TR |[WH| XA
20 7 27 7 16 | 355 | 448 21 — 69 4| 22 6 | 59
25 7 29 7 16 | 39.5 | 488 22 = 71 4 | 26 6 | 61
32 7 33.5 7 16 47 57 245 15 76 4 | 32 7| 67
40 10 38 O] 18 | 545 | 653 26 17.5 81 4 | 36 7 | 70
50 10 45 9 21 655 | 77.8 31 20 87 5 | 45 8 | 74
63 10 50 9 21 755 | 87.8 31 22.5 91 5 | 50 8 | 78
80 12 63 1 26 | 955  10.8 40 — 106 6 | 63 [ 10 | 90
¢ 20~¢ 25
UF
T
Iy
ZB+Stroke
|
PErer D E |FB|/MF| R | TF | UF | W | ZB
0 |16|355|66| 8 | — | 55| 70| 2| 43
25 |16 [ 395(66| 8 | — | 60 | 76 | 2 | 45
32 | 30| 47 7 |10 (32|64 | 80 | 3 | 51
40 | 35(545| 9 | 10|36 | 72 | 90 | 3 | 52
50 (40 [655| 9 (12|45 90 | 110 | 4 | 53
63 | 45| 755| 9 | 12|50 | 100|120 | 4 | 57
80 | 45| 955| 12|16 |63 |126|150| 6 | 64




XEE (mm)

$20~¢ 25 ) ZF+ AERS UF
MF
T] ]
i
= |
¢ 32~¢ 80
A‘afg,‘ D| E|FB|MF| R | TF | UF | zF
20 16 355 | 6.6 8 — 55 70 51
25 | 16 (39566 | 8 | — |60 | 76 | 53 w|«
32 | 30| 47| 7 [ 10| 32 | 64| 80 | 61
40 | 35 | 545 9 | 10 | 36 [ 72 [ 90 | 62
50 | 40 [655]| 9 [ 12 [ 45 | 90 | 10 | 65
63 | 45 |755| 9 | 12 [ 50 | 100 | 120 | 69
80 | 45 |955| 12 [ 16 | 63 [ 126 | 150 | 80
) ZE+AE2RT
FL0.2 EW
"L—
Pl L | & CD(Ho) ﬁ\ Jifa
4 l 7)) ©
} ¢ MR
e CD | EW [ FL | L [MR|ZE
20 | 8 | 16n12 [ 20 [ 14 | 8 | 63
25 8 16 h12 20 14 8 65
32 | 10 | 258%,| 22 | 13 | 10 | 73
40 12 | 278%.| 25 | 16 | 12 | 77
50 | 12 | 3183, 27 | 16 | 12 | 80
63 | 16 | 390873, 32 | 21 [ 16 | 89
80 | 16 | 49.8%,[ 36 | 22 | 16 | 100




XEE (mm)

ZE+AERS UB(h14) )
FL+0.2 CB(H14)
=
j}, @ CD(H9)
} ¢ MR
AE‘:‘E‘P, CB | CD | FL L | MR | UB | ZE
2 26 | 10 | 22 | 13 | 10 | 45 | 73
40 28 | 12 | 25 | 16 | 12 | 52 | 77
50 32 12 27 16 12 60 80
63 40 16 32 21 16 70 89
80 50 16 36 22 16 90 100
% AZIEZ $20, 2501 CB EtIS tHE5HX| Q4&LCt
o iz ==
SHHA DI2E AZE F24
2-C0.5
T T Ul 7 7 Bl I m‘% %
o~
2oy P:AES H 165 E02 1.65
T T
F»DS
CB : Z2ft|A DIRE 0
o |Aes) | B | E | F | 2wy
32 10 | 9.6 | 452 | 50.5 | STW-10
40 12 | 115 | 522 | 57.5 | STW-12
50 12 | 115 | 60.2 | 655 | STW-12
63 16 | 152 | 70.2 | 75,5 | STW-16
80 16 | 15.2 | 90.2 | 955 | STW-16




